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1.

There are 64 pages in all in this Question-Boolet.
Immediately after opening the seals, check to
ensure that there is not defect in the Question-
Booklet and all the pages are intact. If any defect is
detected, immediately inform the Room Invigilator.
If necessary, the Question-Booklet will be replaced.

. There are in all 200 MCQ in this Question-Booklet.

Each question carries 1 mark. No negative marks
will be awarded for wrong answers.

Answer the questions in OMR answer sheet
only. :

Read the instructions given in OMR answer sheet
carefully before filling the OMR answer sheet.
There are four alternative choices against each
question. Select the correct and = most
appropriate choice and mark it with blue/black
ball point pen in the right bubble of the OMR
answer sheet in such a way that ink does not
spread out of the bubble.

Rough Work can be done in specified space
given at the end of this Question-Booklet.

If you cannot answer a question, proceed to the
next one. Don't waste time unnecessarily.

Do not fold or damage the OMR answer sheet
any way.

After examination submit your OMR answer
sheet to the invigilator. Candidates are allowed to
take away the carbon copy of OMR answer sheet
and Question-Booklet. -

SE!
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frr & @ e w9 ¥ srggia s &
T e ufgsra qrr S ® 7

(A) @R
(B) IWX J_d
(C) feurew Wy

(D) 99

frfatea & & g 7@ &1 & SR
(Zreft) W & |9 =1 B ?

(A) Ty
(B) W

(C) &g

(D) o

qF FREAET H AHR 68 & 7
(A) gt

(B) = QAT

(C) SHAH AT
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e § § 9@ @ SYmEadE
=harq 78 © 7

(A) ERE
(B) TSI i

(C) <%
(D) fafer-fastist

@ [31]

A

- Which one of the following states has

the highest percentage of scheduled
caste population ?

(A) Bihar
(B) Uttar Pradesh
(C) Himachal Pradesh

(D) Punjab

. Which one of the following rivers has

the largest river basin in India ?
(A) The Indus

(B) The Ganga

(C) The Brahmaputra

(D) The Krishna

. Who has the right of judicial review ?

(A) President
(B) High Court
(C) Supreme Court

(D) Both (B) & (C)

. Which one of the following is not a

tropical cyclone ?
(A) Hurricane

(B) Roaring Forties
(C) Typhoon

(D) Willy-Willies

P. £50:



5. YRd % J=aa9 EeE A =it
# gem ¥ e F @ o e
fafea & ?

(A) 9RT B TS

(B) €&

(C) wRd & & Y[
(D) fafy smam

6. Frafaiaa & & feg ad & giew o 3
T 9 T H GH5d (TReEH 5ET@)
@B foar o ?

(A) 1947 (B) 1906

(C) 1931 (D) 1940

7. 9AE HREE & e ogEE & Siaa
o[ Ud e H s B MR
A®e?

(A) BT - 19
(B) HTB|T - 21
(C) BT - 29
(D) = - 51

8. TSEA BN H AfIEHR e fhar ?
(A) e JyeTd fafE
(B) wiféT FW
(C) fem = &

(D) €T dis

DU24

A

5. The power to increase the number of
Judges in the Supreme Court of India is
vested in :

(A) The President of India
(B) The Parliament
(C) The Chief Justice of India

(D) The Law Commission

6. In which of the following years the
Muslim League accepted the resolution
of a separate nation (Pakistan
Resolution) ?

(A) 1947 - (B) 1906

(C) 1931 (D) 1940

7 Under which article of Indian

constitution is the right to freedom of
speech and expression guaranteed ?

(A) Article—19
(B) Article — 21
(C) Article — 29

(D) Article - 51

8. Who invented Mobile Phone ?

(A) Raymond Samuel Tomlinson
(B) Martin Cooper
(C) Tim Berners Lee

(D) Steve Jobs

[4] E
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10.

11.
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THo o o —2020 % 1eqY ¥ :

(A) Fo FRATH
(B) Hio TSN

(C) To FRA FR
(D) =t o= g

aRd 9N RNEE - 1935 @
et & & P-4 e 78 2 ?

(A) = & 39 MG SOl
(B) HAREw WIRAIE €9

(C) Hicig T

(D) ¥idt & 29 ArET Fe

A AR & Faqs HiT & 7

(A) farar s

(B) WereT e

(C) SHferam o

(D) Sfo ToI= TAR

fre org®T & deq dfauW ¥ dE &

faam AR S gadEt ¥ gmes FH
 feRT JEH B ?

(A) SFTBT 356
(B) BT 123
(C) BT 368
(D) =T 358

[5]

£

9.

The Chairman of NEP — 2020 is :
(A) K. Kasturirangan

(B) C. Rangrajan

(C) M. Jagadesh Kumar

(D) Shri Dharmendra Pradhan

10. Which of the following is not a feature

1.

12.

£

of Government of India Act — 1935 ?
(A) Dyarchy at the centre

(B) All India federation

(C) Provincial autonomy

(D) Dyarchy in the provinces

Who was the propounder of Bhoodan
Movement ?

(A) Vinoba Bhave

(B) Mahatma Gandhi

(C) Jyotiba Phule

(D) Dr. Rajendra Prasad

Under which Article the Constitution

gives the
constitution and its provisions to the

the power to amend

Parliament ?

(A) Article 356
(B) Article 123
(C) Article 368

(D) Article 358

P. 1. 0.
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frffed 3= & | P-4 T Ak
7 87

(A)ﬁmﬁﬁmim - R+ W

(B) SR off d| - WS SwEel

(C) TR ¥ @ —

(D) s faa - o=

¥ 2024 # A T %r 313 [
QTR ‘TETRd B Ry e ?

(C) M=HyE @

(D) frg =t

frfofeg & § fpm 3w #& B
(BRICS) fr@X ¥9@ — 2024 SRR
fepar & ?

(A) &§ (B) S
(C) =@ (D) 9a

TEIgaET & e Tt # @ B e
B W[ EHR 78T b o ?

(A) WY
(C) arare

(B) Aars
(D) MY

@ 6l

13.

14.

15.

16.

" (A) Russia

A

Which one of the following pairs is not

correctly matched ?

(A) Pits India -

Act

Warren Hastings

(B) Doctrine of Lord Dalhousie

Lapse

(C) Vernacular - Curzon
Press Act

(D) llbert Bill - Ripon

Who got the prestigious film Industry
award 'Dadasaheb Phalke' for the year
2024 ?

(A) Rekha

(B) Rajnikant

(C) Shah Rukh Khan
(D) Mithun Chakraborty

In which of the following country,
BRICS Summit — 2024 held ?

(B) Brazil

(C) China (D) India
Which of the following states of
Rajputana did not accept the

sovereignty of Akbar ?
(A) Amer (B) Mewar

(C) Marwad (D) Bikaner
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18.
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20.
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UGS H AU GEE Sl @a R
BT B ?

(A) e 3

(B) T

(C) gt

(D) FHTSM

T TEEe (1 GB) STe O © ¢
(A) 1024 fFaemEe

(B) 1000 BT

(C) 1024 ATEEE

(D) 1000 SR

JauEvs § fyefefea & 9 P9 w99
B G H AT AHTH 2 7

(A) drEaa

(B) =T

©) %
(D) wgar ()

daa i QR 2024 BRE 3| A
an H WY

(A) Sieisia oo S ol

(B) M HrewTEl
(C) T foameet
(D) T Rt e e R

[71]
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18.

19.

20.

A

Which is the second highest mountain
peak of Uttarakhand ?

(A) Nanda Devi
(B) Kamet
(C) Panchachuli

(D) Kanchenjunga '

One Gigabyte (1 GB) data is equal to :
(A) 1024 Kilobyte

(B) 1000 Bytes

(C) 1024 Megabyte

(D) 1000 Terabyte

Which crop among the following has

maximum area. of cultivation in

Uttarakhand ?
(A) Rice

(B) Sugarcane
(C) Wheat

(D) Mandua (Finger Millet)

Who is declared to be awarded Nobel
Peace Prize 2024 ? :

(A) International ~ Atomic  Energy

Agency

ﬁ(B) Narges Mohammadi

(C) Ales Bialiatski

(D) Anti  Nuclear
Hidankyo

Group  Nihon

P.T.O.
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SaEvs & fhg R § A e
raeT gieq g8 & ?

(A) T

(B) T=Ew
(C) d=mamT
(D) fErTE

PR g qEeY @ T B AR
¥ il ®EaRa e ?

(A) SRR
(B) S
(C) &g

(D) SIESTEl

;ﬁg‘{mmmwaﬁhw

(A) TR

(B) Arm

(©) A

(D) T & Fig &

DA I W e e @
MasFHast 7% g & ?

(A) IFC (B) RBI

(C) NABARD (D) SBI

A § e T 9K 56 B
fo e @Rl & T @ ST

gl B 7
[

(A) 273
(C) 160

(B) 100
(D) 50 ‘

[81]

21.

22.

23.

24.

25.

A

In which of the following - districts of
Uttarakhand  did
disaster take place ?

Malpa landslide

(A) Chamoli

(B) Champawat
(C) Rudraprayag
(D) Pithoragarh

Who shifted the capital of Mughal
Empire from Agra to Delhi ?

(A) Jahangir

(B) Aurangzeb
(C) Humayun
(D) Shahjahan

The largest ethnic community in the
state Manipur is : y

(A) Kuki

(B) Naga

(C) Metei

(D) None of these

Which bank is limited to agricultural and
rural finance needs ?

(A) IFC (B) RBI

(C) NABARD (D) SBI
No-confidence Motion, to be admitted

in the Lok Sabha, needs the support
of how many MPs ?

(A) 273 (B) 100
(C) 160 (D) 50
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27

qferrell e 2

(A) A

(B) wiga

(C) T

(D) T&@

A Y B e e B e ?
(A) =T

(B) A I&

(C) smfesis=r

(D) B

28.

29.
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TG P GREN ¥ ‘T o #H

aTest fre e B 2

(A) SERE

(B) T % e
(C) To SAEHR

(D) Wl STl
aﬁﬁmmﬁﬁwﬁaﬁa‘a%:
(A) qdd

(B) I

(C) &

(D) HE™FX-

& | A

26.

7.

28.

29.

[9] ﬁ

Which of the following rulers had a
powerful navy ?

(A) Chola
(B) Pandya
(C) Cher
(D) Pallava

Who built 'Sanchi Stupa' ?
(A) Chandragupta

(B) Gautam Buddha

(C) Adishankaracharya
(D) Ashoka

The ideal of 'Welfare State' in the Indian
Constitution is enshrined in its :

(A) Preamble
(B) Directive Principles of State Policy
(C) Fundamental Rights

(D) Seventh Schedule

Most stable ecosystem is :
(A) Mountain
(B) Desert

(C) Forest

(D) Ocean

P.3.0:
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ARG § A o @ o et J

J o O T o R ?

(A) NITI ST

(B) Reid I sifw e

(C) Wcig wifeash T

(D) =1 Fifegh e

ARA AW S H g % Ued
USRS

(A) 10 3T, 1986 |

(B) 15 3T, 1995 |

" (C) 15 3T, 1996 ¥

(D) 10 S9ad, 2000 & 4
T 6 d g @ I SAREE &
o ® -

(A) T g &

(B) Fe STESHFAES HYT

(C) Tt aTHT H

(D) S WA &1

T T O A wR T A
T &f :

(A) TURF TAg

(B) st HH

(C) TR S¥e

(D) R i

30.

31.

32.

33.

A

In India the National Income : is

calculated by which of the following
agencies ?

(A) NITI Aayog
(B) Reserve Bank of India
(C) Indian Statistical Institute

(D) Central Statistical Organization

General public access to the internet in
India began on :

(A) 10 August, 1986
(B) 15 August, 1995
(C) 15 August, 1996

(D) 10 January, 2000

Increasing skin cancer and high
mutation rate are the result of :

(A) Acid rain
(B) Carbon dioxide Pollution
(C) Global Warming

(D) Ozone Layer Depletion

The first woman president of the Indian

National Congress was :
(A) Sarojini Naidu
(B) Bhikaji Cama
(C) Annie Besant

(D) Indira Gandhi
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1 & ¥ fF-T 3w fsg & mae @
I8 TE IARE o9 © 7

(A) STfiet
(B) WA
(C) waifRrr
(D) FEMfmEr

e R ‘fasg g REw 9@ S
e

(A) 10 RE=R

(B) 1 &=

©) 1 7H

(D) 10 9=
aﬁmﬁmﬁﬁﬁm

AR 6T & R 7

(A) IS &
(B) fadiras &=
(C) T &
(D) T & g T&

IRd & 999 T R Suvedd
SRR & T & W o ?

(A) TR % @l
(B) a1 34
(C) ik
(D) g=&d

[11]

34.

35.

36.

37.

A

Which one of the following is the leading
producer of spices in the world ?

(A) Brazil
(B) India
(C) Malayéia
(D) Indonesia

On which day is 'World AIDS Day'
celebrated ?

(A) 10 December
(B) 1 December
(C) 1 March

(D) 10 March

At present, which sector contributes
the most to the GDP of Uttarakhand ?

(A) Primary Sector
(B) Secondary Sector
(C) Tertiary Sector

(D) None of these

Which one of the following biosphere
reserves was established first in India ?

(A) Gulf of Mannar
(B) Nanda Devi
(C) Nilgiri

(D) Sundarban

P.T.O.
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ARG # WEiE I IEEA HA AT
TH B

(A) ui¥EH S

(B) Fx

(C) e

(D) TGS

BV (Rupay) ST fFam mm ®

(A) SBIZT

(B) PNB & ,

(C) wda T e e fio &

(D) T wfoefa & ffo ama

TABES § TN PG FT g9fad
A ?
(A) I
(C) aid

(B) SIHISE
(D) #Ra=h

[WH T S S H T H FQ
(A) AEHIEEEH

(B) A (@)

(C) IS

(D) TS

frafafeg & @ a9 99 & TS99
Td Gfod ST HFT AT & °

(A) T FERT
(B) T a& T
(C) d=e &
(D) FFE JERT

i

[12]

38.

- 39.

40.

41.

42.

"(A) Pancreas

A

The state which produces maximum
tea in India is :

(A) West Bengal
(B) Kerala
(C) Assam
(D) Uttarakhand

‘Rupay’ has been issued by :
(A) SBI
(B) PNB

(C) National Payments Corporation of -
India Ltd.

(D) National Securities Depository Ltd.

‘Which part of the body is affected by

Typhoid ?
(B) Stomach

(C) Intestine (D) Brain

The reason for the curdling of milk is :
(A) Mycobacterium

(B) Yeast

(C) Lactobacillus

(D) Pseudomonas

Which of the following is considered

the largest and organized industry of
India ?

(A) Sugar Industry

(B) Cotton Textile Industry
(C) Cement Industry

(D) Paper Industry
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frege (W dafw Rem
fafiee STeEve) @ gEE e e
g7

(A) TETE
(B) BRER
(C) T
(D) FearR

e & ‘o 7 R qsqqr
TR ST T B 7

(A) S SiEs

(B) oTHIfers “ifert

C) % Sias

D) |t Sias
ﬁwﬁf@aﬁﬁw—wwaﬁgﬁaaﬁ
32

(A) TS A @@ — TS
(B) di=q IA9iHT - R
(C) THo THo Fgeedit — diom

(D) Seedr T — Qe

ARG & 9 S e S @
A) FeH |
(B) WEHd &
(C) WK &
D) AT ¥

@ [13]

43.

45.

46.

A

Where is the headquarter of SIDCUL
(State
Corporation of Uttarakhand Limited)

Industrial Development

situated ?

(A) Dehradun
(B) Haridwar
(C) Pantnagar
(D) Kotdwar

Which aspect has been highlighted in
Kautilya's 'Arthashastra’ ?

(A) Economic Life
(B) Political Policies
(C) Religious Life

(D) Social Life

Which of the following pair is not
correctly matched ?

(A) Amjad Ali Khan

— Sarod
(B) Pandit Ravi Shankar  — Sitar
(C) M. S. Subbulakshmi - Veena
(D) Allah Rakha — Tabla
Turpentine oil is obtained from :
(A) Netum
(B) Cycas
(C) Cedar
(D) Pine

P.T.O.
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frafafea & 4 o931, = T@K B

o H G 78 8 ?

(A) STIEHT

(B) #URE &
(C) PN mHT
(D) & I

frafifeg & ¥ g am @3 &
IOETS H T I I AN B

g7

(C) A
(D) AN

g R gEq Af® WEr A 9 oW
T o1 9 ©

(A) e
(B) iewad

47.

48.

49.

50.

A

Which one of the following is -not the

source of revenue of Central

Government ?

(A) Income Tax

(B) Corporate Tax

(C) Agriculture Income Tax

(D) Excise Duty

Which of the following instrument is
declared as state musical instrument of
Uttarakhand ?

(A) Dhol
(B) Flute
(C) Hudka

(D) Mushakbeen

The most abundantly found metal
element on earth is :

(A) Iron
(B) Calcium
(C) Aluminium

(D) Copper

Fluoride pollution mainly affects :
(A) Teeth
(B) Heart
(C) Kidney

(D) Brain



B . A

e (9 @em 51 @@ 52 @ fom) c & Direction (For Q. Nos. 51 & 52) : Which one
[ W—WW i F aA-d @ I, T of the given four answer-figures can be formed
o # U MU gHSt § S ST M © 7 from the pieces given in question figure ?
51. 9 A : 51. Question Figure :
AV D AV D
A A
I %ﬁlﬁf Answer Figures :

(A) (B) (©) (D)

52. N S

S

(A) | . (© (D)

53. offv@ SR Wed 3 gomi H AR 100
R 21 afe orfve &1 aom W | 3 fEn
F T UG Aed ¥ 4 Fem o R, @
{a F g9 fohaw fepetam B °

(A) 48 &
(B) 50 fm
(C) 52 f&m
(D) 56 fepm

DU24 @ [15]

52.

53.

% e

(A) (B) (€) (D)

Question Figure :

> P
P o

Answer Figures : .

g

X

(A) (B) (©) (D)

The sum of the weight of Anil and
Mohan is 100 kg. If the weight of Anil is
3 kg. less than Ravi, but 4 kg. more
than Mohan, then how many kilograms
does Ravi's weight ?

(A) 48 kg

(B) 50 kg

(C) 52kg
(D) 55 kg

PO
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54. f=fafgd 9=t 1 difhs/ais &9 #
T W 99 & -9 I arm ?

AW, g, AYBT, qH, IR

(A) STgBT (B)
(C) =% (D) ™
e (e dem 55 @ 56 & fm) - AR &
™ JEwm @ gl g 9l (7) # I
it # 4 g
55. NS ST
X b 2
I SR :
(A) (B) (&) (D)
56. NS ST :
el
IR SHRAT -
0 s
4| X% X
(A) (B) (©) (D)

DuU24
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A

54. Which word will be in the middle, when
following words are arranged in logical

sequence ?

Chapter, Word, Paragraph, Sentence,

Letter
(A) Paragraph  (B) Sentence

(C) Word (D) Chapter

Direction (For Q. Nos. 55 & 56) : Select the

missing figure (?) of given series from the
answer figures :

55. Question Figures :
D E
Answer Figures :

=

(A) (B)

> | 2
K

©)

56. Question Figures :

a7l

Answer Figures :

X% X
é) ¢ °
(A) (B) (©) (D)
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feu gu @d@iH d B
amE H gRafda &
e Fgfaa & e ?
9+7+3x2-22=1
(A) xR -

(B) + 3 x

(C) + 3 x

(D) + 3R =
'WONDERFUL' & & &Rl &l aoiiar

% F A FHES B0 M W e o
% ©M suRafia @ ?

(A) T

A S @
i ST &

(B) @

(C) @

(D) 379 § 1 &

R
P+Q®H &4 > P, Q% 9%
PxQ® 3 8P, QF | &
P-Q#H I 2P, Q% T &
P—Q® & ¥ P, Q@ R B

ﬁrﬁqﬁﬁaﬁﬂéﬂﬁﬂrwﬁmwug
WM FHAcCHmamy ?

(A) A-B+C
(B) A+B-C
(C) A+BxC
(D) A+B=C

[17]

[
A

57. Which of the two signs in the equation
given below can be interchanged to
make a balanced equation ?

9+7+3x2-22=1
(A) xand -
(B) +and x
(C) +and x

(D) +and +

58. If the word '"WONDERFUL' is written in

alphabetical order, then how many
letters will not change their place ?

(A) One
(B) Two
(C) Three

(D) None of these

59. IE:

P + Q means — P is the brother of Q
P x Q means — P is the mother of Q
P + Q means — P is the sister of Q
P — Q means — P is the father of Q

Then, which of the following equations
represents that ‘A is the uncle of C' ?

(A) A—-B+C
(B) A+B-C
(C) A+BxC @

(D) A+B+C

P.T.O.
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e & IR ol § | e ae
AP Ffted & ?

TS ST :

/

(A)

(B) () R (2)

aefeat @ i § Gar @ ¥ 159
WM R E A A AW {187 ®WH |
21 3% =9 ANt B 99 4 @=fHar &, o
Tt B iR ¥ #H-d-mm  Rea
wefear 8 ? :

(A) 36
(B) 27
(C) 35

(D) 26

I e @Ak W § 'GARDEN' &
HE 'HVS' &, @ IH Hidasd A A
'BRIGHT" & $i$ &1 8rl ?

(A) TOB
(B) TPB
(C) SPB

(D) TPA

[18]

&

- 60.

61.

62.

A

Which of the answer figures- given
below contains the question figure ?

Question Figure :

/

Answer Figures :

(A) (B) (©) (D)

In a queue of girls, the position of Reeta
from left is 15th and the position of Madhu
is 18th from right. If there are 4 girls in
between these two girls, then find the

minimum number of girls in the queue ?
(A) 36
(B) 27

(C) 35 -

(D) 26

If 'GARDEN' is coded as 'HVS', then
what would the '‘BRIGHT' coded as ?

(A) TOB
(B) TPB
(C) SPB

(D) TPA



e

63.0 T A H A RufEi & © ¥ @
& 3 99 A, @ FW IE-T gEn

it ?

(A) 6

B) 1

C) 4
_ (D) 2
e (ve den 64 T 65 & fm) @ S (i)
AR (i) T B9y T0% § g&tm & Ry feat
4/ & NP AR A (i) ST (iv) B
9 G §9Y WG #X, SHOSTgN (iv) A

A

63. Given below are the two positions of a
dice. If 3 is the bottom surface, then
what will be on the top surface ?

v e )
e A
L]

3/ e o e

(A) 6
(B) 1
(C) 4
(D) 2

Direction (For Q. Nos. 64 & 65) : Figures (i)
and (i) are related in a particular manner.
Establish the same relationship between figures
(i) and (iv) by choosing a figure from amongst
the given alternatives, which would replace the
question mark (?) in fig. (iv).

64.

8 w

™~

64. |& wm DIEI

il
e

(i)

(ii) (iii)

Bl Bg B 99 14
Ia alsn a’g m‘ca al

(iv)

a

@ w

aﬂiﬂl
19 g

?

(i)

(ii)

(iii)

W)

IE'_I BIf3 El

ol ol™l al

lﬁ_ﬁ'm
Bl EI

z a
[0 ol

(A)

(B)

(C)

(D)

(A) (B) (C) (D)
.65. O ? 9
(i) (i) (iii) (iv)
WSS
o~ s
(A) (B) ©)

DuU24

65.

S

O

-

?

(i)

o
(i)

(iii)

v)

=

o
=

N/ 2

(B)

}J
(©)

(D)

P. ¥./0:



66. R/ R ‘FeE & G99 T 9 ¥,

I TR ‘FE F g9y fHEd B 7
(A) STgE (B) AHY
(C) g (D) T&RT

ﬁ%sr(mdwwqa‘»ss%m):aw
IR SRl # & A9 e e ol & '
T R & B R PR el @ e
FHifoTT

67.

68.

(A) (B) (©) (D)
69. TF FaH MW H, FP\ TA T4 Ry

g
() 123 % 31 ® - Itis Black
() 3453 31 & - Dog is running
(1) 356 F 37 g2 >ls running good
(IV) 728 1 31 2 —> Black pet Cow
(V) 637 % 318 ¥ - Cow is good

‘Black cow is running’ &1 G a9
F =7 B ?

(A) 5342
(C) 6321

(B) 2735
(D) 7435

DuU24.

L

A

66. As the 'Study' is related to 'Knowledge',

similarly 'Work' is related to :
(A) Experience (B) Service

(C) Appointment (D) Experiment -

Direction (For Q. Nos. 67 & 68) : In given
four figures, three are similar in a certain

manner but one \is_ different. Select the

different/odd figure :
67.
R\ % L
N N Y
(A) (B) (©) (D)

" @ AP

- (A) (B) ©) (D)

69. In a certain code, some facts are given
below :

() 1283 means — ltis Bléck

(I1) 345 means 5 Dbg is running
(1) 356 means — Is running good
(V) 728 means — Black pet Cow
(V) 637 means — Cow is good

Then what is the code for '‘Black cow is

running' ? _
(A) 5342 (B) 2735
(C) 6321 (D) 7435

t20]_ %
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70.

7

T

DU24

XZY, UWV, RTS, ?, LNM
(A) NPQ

(B) QPO .

(C) OQP

(D) PRQ

aZ, Yb, cX, Wd, ?

(A) Ve

(B) vE

.(C) Ev

(D) eV

16; 24, 7, 54, 81
(A) 32
(B) 36
(C) 40

(D) 45

=]

A

Direction (For Q. Nos. 70 to 72) : What will

~come in place of question mark (?) in the

following series ? Choose the correct option :

70.

71.

72.

XZY, UWV, RTS, ?, LNM

(A) NPO
(B) OPO
(C) OQP

(D) PRQ

az, Yb, cX, Wd, ?
(A) Ve
(B) VE
(C) Ev

(D) eV

16, 24, 7, 54, 81
(A) 32
(B) 36
(C) 40

(D) 45

[21] ﬁ

P.:0;
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[

@gaﬁaﬁrmﬁ&@mwa@m
Zaiteq fFar @ 3 B = e REi
WIRE?

(C) 12

(D) 14

s (ws W 74 wd 75 3 ) : o 4 &

T B -0E AR S T A AT

e s 1 fosor & 9 5@ A9 A el a
H AR A T '

74.

75.

DU24

W—@-W@W?‘ﬂ'ﬁaﬁ.ﬁaﬁﬁ.
F T Ty

(A) 60 (B) 42

(C) 28 (D) 56

FH--FH & gae TIF a4 a1 B
e Jad -
(A) 32 (B) 12

(C) 8 (D) 28

'EQéJ

73.

A

In the figure given below, many cubes
have been arranged. How many cubes

cannot be seen by us ?

(A) 8
(B) 10
(C) 12

(D) 14

Direction (For Q. Nos. 74 & 75) : A cube of

4 cm is painted blue on all faces and cutinto a

cubical blocks of 1 cm each.

74.

75.

.(C) 28

Find the number of cubes whose at
least one side is painted :

(A) 60 (B) 42

(D) 56

Find the number of cubes whose at
least two sides are painted :

(A) 32 (B) 12

(C) 8 (D) 28



76.

78.

DU24

4 T 40 e @ o A AN e
% 99 feaw SIS & BT Brm ?

(A) 120°
(B) 100°
(C) 90°

(D) 130°

I fF wEM ¥ MY 9Er @ 17
Tog B, O Sasd 5 3| wEm d a8
HH-91 9 ¥ S 9" 9} Sme ?

(A) HITEER
(B) geWicEAR

(C) FHIR
(D) s

= ﬁ‘.é P-4 IUX A, U
AT F Uiy B QT FAN ?

s ST ¢

=
I AT -
(A) B) ©) (D)

76.

78.

A

What angle will be made between both
the hands of a watch at 4 o'clock 40

minutes ?

- (A) 120°

(B) 100°

(C) 90°

(D) 130°

If 17th of a month is the third Monday,

then find out the day which comes five

times in the same month ?
(A) Tuesday

(B) Thursday

(C) Friday

(D) Saturday

Which of the following answer figure
will complete the pattern in the question
figure ?

Question Figure :

N
N

?

Answer Figures :

=/

(A)

(B) (©) (D)

P.&K0.
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79. ¥ T Y ﬁﬁa—%ﬁ e ugara®
faes (2) # TR o 7

10/9-\12
X
X

e (e wem 80 ¥ 83 % o) - H= &

SHIEl F SAMYES FHAT b = me

% Jax g -

(i) eaﬁaA,B,c,D,Eaﬁ-{Faﬁﬁmﬁﬁ
AMA-gFE 93 F qu uas U ® O
af 2

(i) E f6et off df & o & @ @

(i) D,F % a¢ § T ®H | = |

(iv) c,aﬁemq@ﬁ%,o%ﬁwha%a%n
(v) B, F & TSI B

80. B3 |MA & Y1 2 ?
(A) C (8) D

(C) E (D) A -

DU24

[24]

A

Which number will replace the qu'estibn
mark (?) in given pattern ?

79.

(A) 48
(B) 40
(C) 30

(D) 24

Direction (For Q. Nos. 80 to 83) : Read the
information given below carefully and then

answer the following questions :

(i) © people A, B, C, D, E and F are sitting
across a table in two rows i.e. 3 people in

each row.
(i) Eis not at the end of any row.
(iii) D is 2nd to the left of F;

(iv) C, who is neighbour of E is sitting
diagonally opposite to D.

(v) B is the neighbour of F.

80. Who is sitting infront of B ?
(A) C (B) D
(C) E (D) A



81.

82.

83.

84.

DU24

P-4 W A & d A R 7

(A) ASRE
(B) ESIRD
(C) C3IRB
(D) ASIRF

(A) F3lRC
(B) D3RA
(C) AdIRC
(D) ASRF

qﬁo,e%wﬁw%ﬁﬂm,a‘rw
WM W D & TS el

(A) ASRC

(B) F3iRB

(C) 3@ B

(D) 3aT A

Jfgmsr 100 o RO #; AR AW E,
T q & B 60 W IOX #H X S
g, X 8 30 M1 @@ # AR O 2

Al B 97 o uRPNe wWE ¥ B
et & oI Pl G0 W B 2

(A) 70 9l T

(B) 70 Ht Uiz=H
(C) 50 H SfRo-7d
(D) 50 } IT-T

81.

82.

83.

A

Which two people are sitting in the
same row ?

(A) Aand E
(B) Eand D
(C) Cand B

(D) AandF

Which two friends are sitting diagonally
opposite to each other ?

(A) FandC

(B) Dand A

(C) AandC

(D) Aand F

If D goeé to E's place, then who are the
neighbours of D at new place ?

(A) Aand C
(B) FandB

(C) Only B
(D) Only A

Avinash goes 100 -m towards South,
then he goes 60 m towards North and
then he goes 30 m towards East. Find
the direction and the distance of the
place from his starting point :

(A) 70 m East
(B) 70 m West
(C) 50 m South-East
(D) 50 m North-East

P.T.O.



81.

82.

83.

84.

DU24

P-4 A A & & df A E 7

(A) ASIRE
(B) E3IRD
(C) C3RB
(D) AARF

(A) F3lRC
(B) D3R A
(C) ASIRC
(D) AJIRF

3 D, E 3 ®M W I ¢, @ T
WM WD % TS’ B

(A) ASTC
(B) F3IXB
(C) a9 B

(D) %ad A

JfeTT 100 Ht ROr @ AR ST P,
e q 38 % 60 W IWX & X S
g, X a8 30 ff T & SR W 3

a5 g8 o URRYE ©E 4 R
Ream & oI Fl G0 W B 2

(A) 70 W &

(B) 70 i ufik=m
(C) 50 H =fRyor-yd
(D) 50 # IW-T

[25]

81.

82.

83.

A

Which two people are sitting in the
same row ?

(A) Aand E
(B) Eand D
(C) CandB

(D) Aand F

Which two friends are sitting diagonally
opposite to each other ?

(A) FandC
(B) Dand A
(C) AandC

(D) Aand F

If D goeé to E's place, then who are the
neighbours of D at new place ?

(A) Aand C
(B) FandB
(C) Only B
(D) Only A

Avinash goes 100 ‘m towards South,
then he goes 60 m towards North and
then he goes 30 m towards East. Find
the direction and the distance of the
place from his starting point :

(A) 70 m East
(B) 70 m West
(C) 50 'm South-East
(D) 50 m North-East

P.i5:. 0.



85.

86.

87.

DU24

o

B 92 oY I & e § e
R B ST SR ST A WA B
e T A AW A B AGA BQ
T ¥eq T @ ¥ AR R | o @
W @ den 70 @, @& T 7F A B
Her fRa 2 7 '

frfafaa R A9 & W@ fam y B
RFe o 8l W] i % W x T8 ?

L Yixyiyxyiiyxiiyixyiyxyiyix

(A) 4

85.

86.

87.

(90(&|ooo

A

A certain number of horses and an'equal
number of men are going somewhere.
Half of the owners are on their horse's
back while the remaining ones are
walking along leading their horses. If the
number of legs walking on the ground is

70, how many horses are there ?
(A) 10
(B) 12
(C) 14

’(D) 16

How many such y are there in the

following alphabet series which is

followed by i, but x should not be with /2
yixyiyxyi-iyxiiyixyiyxyiy,ix
(A) 4 A

(B) 5

(C) 6

(D) 7

Which one of the following Venn
diagrams represents  the . Dbest
relationship' among studént, teacher

and school ?

(A) (B) (©) (D)




e (wew wem 88 & 90 3 fom) @ Fr=faiEm
FIAE! H FEEET ¥ TE T IR B =
N I e B IY Qe ¢

TR it a, b, c3lRd & §,
() a3ib Fea SR FRbe & Bl
(i) b3 c FAe IR TFH T B
(iii) a3 d TEA AR e T
(iv) c3Xd &Fh AR JPedid Fad &
88. 2 BT 7& Q@ § ?

(A) d

(B) ¢

(C) b

(D) a

89. GEdld, Sebedi AR B P Gaa
g7

(A) d
(B) c
(€) b
(D) a
90. b,c3iRd T -G & el § ?
(A) Srebedd
(B) et
‘ (C) Brbe

(D) B«

DU24

[27]

&

A

Direction (For Q. Nos. 88 to 90) : Read the
following information carefully and answer the
questions that follow :

Out of four friends a, b, c and d,
() aand b play Football and Cricket.
(i) band c play Cricket and Hockey. .

(iii) a and d play Basketball and Football. -

- (iv) cand d play Hockey and Basketball.

88. Who does not play Hockey ?
(A) d
(B) c
(C) b
(D) a

89. Who plays Football, Basketball and
Hockey ?

(A) d
(B) c
(C) b
(D) a
90. Which game do all b, c and d play ?
(A) Basketball
(B) Hockey

(C) Cricket

ﬁ- (D) Football

P.3.0:



91.

92.

93.
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P ¥ 8 B R TR RY g

gl F qH BT A S 7
1. THISH
2. HUEHA
3. w@d

4. H=9
(A) 3,2,4,1

(B) 1,2,3,4
(C) 3,4,1,2
(D) 2,4,1,3

T B T F FB AW o T A B
T SEH 5 T 4 T 25 fFE A
@ I, 39 999 98 999 IuE 99 3
U gl $ B SO AN W@
g A ?

(A) 7 I9/&< 30 e
(B) 7 I1&T 35 fFe
(C) 7 ST 15 e

(D) 6 ST 35 AT

frfifed s § ol X & @
e & 9% & faww gem o ¥ 7

1,2,3,4,5,6,7,9,4,8,4,5,5,4,8
(A) 1
(B) 2
€) 3

(D) 4

[28]

91.

92.

93.

A

Which of the following options gives a

‘meaningful order of words ?

1. Publication
2. Editing

3. Writing

4. Printing
(A) 3,2,4,1
B).1,2,3, 4
(C) 3,4,1,2
(D) 2,4,1,3

Anil's watch had some error. So when
his clock showed 4 o'clock 25 minutes,
the right time was the mirror image of
his watch. What was the right time ?

(A) 7 o'clock 30 min.
(B) 7 o'clock 35 min.
(C) 7 o'clock 15 min.

(D) 6 o'clock 35 min. -

How many times an even number is
followed by odd number in the series
given below ?

1,2,3,4,5,6,7,9,4,8,4,5,5,4, 8
(A) 1
(B) 2
©) 3

(D) 4



[

e (e g 94 § 97 3 o) : P
4 q 99 999 |, @ T IR fawed (A), (B),
(C) X (D) # § ompla (X) & & -
i & T B ad & R Y
MN T far T '

94. % E
0 ,
Al
(B B ey ()

"=

(X)

(A) (B) (©) (D)
96. PR
6
D 4
M rrrrrrrrrrrr N
(X)
D 1| |D 1||D (/D 4
Q 9 Q Q
A4 S|V SV - “eHV e
(A) (B) (&) (D)

DU24 = @ [29]

A

Direction (For Q. Nos. 94 to 97) : In each of
the following questions, choose the correct
mirror image of figure (X) from amongst the
four alternatives (A), (B), (C) and (D) along

with it. The mirror is represented by line MN.

“ ]

AR

=

(X

M | B

(A) (B) (©) (D)

~—

96. RS




97.

98.

. 99.

100.

DU24

M 222220200000 N

S

(X)
DL RS
(A) (B) (©) (D)

P,IQ,RE{?JTS'WW%QI%%,
% P g s & 30 9 3 S IE-A
W e

(A) B
(C) faa=t
frefofed o=l & ol a=9N 3
FHHAR JaRgd X -

1. Live

(B) T
(D) 7=

Litter
Little

Literacy

AR R

Living

(A) 4,2,3,1,5
(B) 3,2,4,5,1
(C) 4,38,52,1
(D) 8,4,2,1,5

Frer ot & P o ¥ 2

(A) 28
(C) 30

(B) 29
(D) 32

97.

98.

99.

100.

I

[30]

M 222222000006 N

d

)
5 ¢ s
& B sea - (D)

P, Q, R and S are four consecutive
months in which P and S have 30 days.
Which month is S ? ;

(A) April
(C) September = (D) November

(B) June

Arrange the following words as per

order in the English dictionary :

1. Live
Litter
Little

Literacy

NP O

Living

(A) 4,2,3,1,5
(B).:3:2:4,554
(€)74:3:5,2
(D) 3,4,2,1,5

How many squares are there in the
figure given below ?

(A) 28
(C) 30

(B) 29
(D) 32



101.

102.

103.

104.
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g ‘1

1+

B :

- (A) 18/17

(B) 21/17
(C) 13117
(D) 12/17

2 3

(999—1-+999—+999—.+ 2
T 7 7

999i+999—-—+999§
7 T 7

Eﬁrqﬁ%:

(A) 2997
(B) 5979
(C) 9994
(D) 5997

AR 15x = 0.05y &, @& L% & A
y+X

T

(A) 290/31
(B) 31/29
(C) 1/30
(D) 1/3

A F IGF 50% 9T fRar 1 oiR 9' H
50% W@ Rar mm I § I R
yfoerd a9 & gg ?

(A) 25%
(B) 30%
(C) 20%
(D) #1s & T&

E§§[311

101.

102.

103.

104.

A

If 2=x+ , then the value of x

will be :

(A) 18/17
(B) 21/17
(C) 13/17
(D) 12/17

The value of (99949992 19992+
7 7 7
9992 + 9992 1+ 9998 | will be :
7 7 i

(A) 2997
(B) 5979
(C) 9994
(D) 5997

If 1.5x = 0.05y, then the value of £—X
y+X

will be :
(A) 29/31
(B) 31/29
(C) 1/30
(D) 1/3

A's salary was decreased by 50% and

~ subsequently increased by 50%. How

much perbent salary does he lose in
total ?

(A) 25% .
(B) 30%
(C) 20%
(D) No loss

P.T.O.
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106.

107.

108.
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&

T TGS 3 9% I
A | 2 T =8
H I T

(A) 180°

3:7:6:4%
T2 IR TS9 B B

(B) 120°
(C) 95°
(D) 70°
240 BET &R 9IS i 1 e 35 B
e Iol BE H AT 39 T ST

BEl & g 15 T, @ St Bt @
e Bl

(A) 40

(B) 200
(C) 190
(D) 150

TH & H 899 ¥ WFT 3 W INHA
62 WIS BT 31 IO e B 31 F AN
3 W T ATET I BT ?

(A) 62
) 2

(B) 29
(D) 0

i i+j‘/\/:_a bw/— @ a A b &

M R

(A) a=-11,b=-6
(B) a=11,b=6

(C) a=11,b=-6
(D) a=6, b=11

d

[32]

105.

106.

107.

108.

A

Four angles of a quadrilateral are inithe
ratio 3 : 7 : 6 : 4. The sum of the
greatest and the smallest angle is :

(A) 180°
(B) 120°
(C) 95°
(D) 70°

The average marks obtained by 240
students is 35. If the average of passed
is- 39 and that of failed

students is 15, then the number of

students

passed students will be :
(A) 40
(B) 200
(C) 190
(D) 150

A number when divided by 899 gives a
remainder 62. What remainder will be
obtained by dividing the same number
by 31 ?

(A) 62 (B) 29

€) 2 (D) 0
2 +2\/— a+by3 , then the value of
7+mf

aand bis:

(A) a=-11,b=-6
(B) a=11,b=6
(C) a=11,b=-6
(D) a=6, b=11



109.

110.

111.

112.
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IR A, Béar 150% &, A B, (A + B) &
feper afcrer B 7

(A) 33%%

(B) 50%

(C) 75%

(D) 40%

R O oo TE 7§ W
RN TN H [oHEA 8

(A) 1 |

(B) 2

(©) -1 |

D) &% ¥ HE &

faar mr ¥ 7 d@®= 67y19, gﬁﬁﬂm

3, Ty B & IF 3, y W
guifed a9 /1 5 7

(A) 3
(B) 9
C) 7
(D) 4

A9 w99 Tgas gest @
oS §eT g B @

(A) 16
(B) 24
(C) 48

(D) 96

109.

110.

11,

112.

[33] ﬁ

If A is 150% of B, then B is
percent of (A + B) ?

what

10
(A) 331%
(B) 50%
(C) 75%

(D) 40%

The product of smallest positive integer

and the greatest negative integer is :
(A) 1

(B) 2

(C) 1

(D) None of thesé

Given that the number 67y19 is

divisible by 9, where y is a single digit,
what is the least possible value of y ?

(A) 3

B) 9

) 7

(D) 4

Find the largest natural number by
which the product of three consecutive
even natural numbers is always
divisible :

(A) 16

(B) 24

(C) 48

(D) 96

P.T.0.
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114.
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&

9 B qeTs I de 4 e,
1 4,5, 6 A8 F AFT A W ITHA 3
T, W 9 ¥ 9T 3 W H3 q9%A T
T ?

(A) 729
(B) 363
(C) 123

(D) 243

a 6)0.16 ><(16)0‘04 x(2)0‘2 F 9 % .
(A) 2

(B) 1

(C) 16

(D) 4

I H FHG 20% T W TH ST

T GG 20% FF T T 21 TE W
39 T o ufaed &9 & SR 7

(A) 0.0%
(B) 4.0%
(C) 6.0%

(D) T™ ¥ HE &

0.36, 1.2, 4.8 % WgTH TANEH @
(A) 57.6
(B) 382
(C) 144

(D) & § HE &

@[34]

113.

114.

115.

116.

A

What will be the least positive integer,
which divided by 4, 5, 6 and 8 leaves a
remainder 3, but when divided by 9

leaves no remainder ?
(A) 729
(-B) 363
(C) 123

(D) 243

Value of (16)%16 x(16)%%* x (2)%2is :
(A) 2

(B) 1

(C) 16

(D) 4

The price of tea being increased by
20%, a man reduces his consumption

by 20%. By how much percent will his
expenses for tea be decreased ?

(A) 0.0%
(B) 4.0%
(C) 6.0%
(D) None of these

The L.C.M. of 0.36, 1.2, 4.8 is :
(A) 57.6
(B) 38.2
(C) 144

(D) None of these
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i

a dERtt & 2 : 38 qu IFH
ToHo 54 8, T GEAR H AT B :

. (B) 15

(A) 5

(C) 45 (D) 54

Bl a8 W 10%, 20% 3R 25% #
SRR BE & a8 B B Gl B9 @
ST ?

(A) 46% (B) 54%

(C) 45% (D) 55%

e A, C q 50% % & X B, C ¥
25% % B, @ A, B ¥ R R

afes 7 ?
(A) 25% (B) 50%

(C) 75% (D) 20%

& o wemst @ A 18 ¥ o
ST THER 162 B AR A HEAST H
M AEd e & SR &, e

geEelt 3 g & !im_ BT
(A) 136 (B) 116
(C) 126 (D) 324

T TEe 9H 1741 U A 87 ™
ST @ IR 39 YR SHW a3 §§
S B 174 U % 9% SHE SAEd
T T |

(A) 36 (B) 39

(C) 51 (D) 84

3

[35]

117.

118.

=119,

120.

121.

(C) 45%

A

If the ratio of two numbers is 2 : 3 and
their LCM is 54, then the sum of the
two numbers is :

(A) 5 (B) 15

(C) 45 (D) 54

Successive discount of 10%, 20% and
25% on the price of an article will
reduce the price by :

(A) 46% (B) 54%

(D) 55%

If A is 50% larger than C and B is 25%
larger than C, then by what percent A is
larger than B ?

(A) 25% (B) 50%

(C) 75% (D) 20%

The sum of three positive numbers is
18 and their product is 162. If the sum
of two numbers is equal to the third
number, then the sum of squares of all
the three numbers will be :

(A) 136 (B) 116

(C) 126 (D) 324

A batsman makes a score of 87 runs in
his 17th inning and thus increases his

average by 3. Find his average after

-17th inning :
(A) 36 (B) 39
(C) 51 (D) 84

P.T./0.



122, (998)% —(997)% ~45

@B @ e

(A) 1995 (B) 195

(C) 100 (D) 10

123. 14 §0 o1 a0 M F G S T A

9 98 g9 H SAGA o

(A) 154 FF

(B) 196 ¥

) 77 3

(D) 308 ¥’

A3 : (Jo Ho 124 W 125 3 fu) : A A
™ qR 9 H AEIT AT S & IRAR EW
RN A R R ) B W wd @
I 81 39 U A€ F AR W Ul F I
diforT -

124. 3R IREX S @'mm 3 25,000
g, @ AW IR R W B

TR fope B ?
(A) 12,500 (B) T 15,250
(C) T 16,250 (D) T 17,250

DU24

8 e

A

2 2
122. Pind the valus of 2%8) "2(997) 2‘45-:
(98)2 —(97)

(A) 1995 (B) 195

(C) 100 (D) 10

123. The area of the largest circle that can be
-drawn in a square of side 14 cm will be :
(A) 154 cm’
(B) 196 cm’
(C) 77cm’
(D) 308 cm’

Direction : (For Q. No. 124 & i25) : Study the
following pie-chart which shows the spending
of a family on various heads during a month.
On the basis of this pie chart answer the
questions :

Others
15%

Clothing
10%

Education
25%

124. If the total monthly income of the family
is ¥ 25,000, then what is the amount

spent on food and rent ?
(A) ¥ 12,500 (B) ¥ 15,250

(C) T 16,250 (D) T 17,250



125:

126.

127.

128,

DU24

e 9RaR # FW @ T 25,000 &, @
R oX R T w = R R ?

(A) ¥ 5,000
(B) ¥ 5,650
(C) 6,250
(D) % 7,250

Frefofed & | S9-4 d& q99 &9
37

ol/2 g1/8 41/4. g1/6: 451/12,
®) 33

6% &N X X 10 I H YR AN
3120 %, @ Tom 7 @ ?

(A) T 100
(B) T 125

() T 150
(D) ¥ 200

\/610+\/212+ﬁ§ HAE B

(A) 25

(B) 20
(©) 18
(D) 15

- 126.

e

125.

127.

A

If the total income ~of the family is
% 25,000, then what amount is spent on
education ?

(A) 5,000
(B) T 5,650
(C) ¥ 6,250
(D) 7,250

- Which of the following number is the

greatest ?

(B)
(©)

31/3
41/4

The simple interest for 10 years at a
rate of interest of 6% is T 120, then
principal is :

(A) ¥ 100

(B) T125

128.

(C) T 150
(D) 200

The value of \/610 +v212+4/169 is:

(A) 25

(B) 20
(C) 18

Pafi0.
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130.
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132.
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@mﬁzé%sﬁmwaw‘r%
IR aw 450 B THA B &, A TA
q o el & e oA ?

.(A) 750

(B) 700
(C) 600
(D) 550

AIRBTE aH & 12RF & BIR C
15RAT TN CARA20RT § @ &
T B IR A B T C TH T FH
P, o I FH F A R T @ QO ?
(A) 60 f&T (B) 20 =
(D) 5 &=

P G 25% B A9 W A AR L
IR 3@ fep ge A W RAr &,
A e ufer B8R

(A) 200%

(C) 10 R+

(B) 150%

(C) 100%

(D) 50%

Iy x+l=\/§ @f, @ x3+-1—3 $l HIH
X X

BT

(A) -2 (B) 0

©) 2 (D) 3V3

129.

130.

131.

132.

ﬁ ©) 2

A

25% of the students who appeared:in
an examination failed and only 450
students qualify the exam. The number
of students who appeared in the
examination was :

(A) 750
(B) 700
(C) 600
(D) 550
A and B can do a work in 12 days, B

and C in 15 days and C and A in 20
days. If A, Band C work together, they

- will complete the work in :

(A) 60 days (B) 20 days

(C) 10 days (D) 5 days

An article is sold at a profit of 25%. If its
selling price is doubled, the profit
percentage will be :

(A) 200%
(B) 150%
(C) 100%
(D) 50%

If x+-)1?=«/§, then the value of

X3+L3 will be :
G
(A) -2 (B) 0
(D) 33
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(D)
g 3%*Y =81 AR 81* Y =3 B, @ x
N TH aﬂr :
(A) 42 (B) 15/8

(C) 17/8 (D) 39

48 o A (R w T
) ARk AB=BC=CD &, & &§ &
PTG S A

A8 C D
SR e S SR e

(A) 108 Tt
(B) 112 3%
(C) 124 TF

(D) 116 q

[39]

133.

134.

135.

A
Geo e o g
Th eof =, —, =, =, —
R S o e a e o0
LR
15
(A) 1
4
B S
'() -
5
C g
()2
Bl
D) 14
©

If 3X*Y =81 and 81 Y =3, then the

value of x will be :
(A) 42 (B) 15/8

(C) 17/8 (D) 39

In the following given figure (not drawn
to scale) if AB = BC = CD, then find the

perimeter of the given figure :

TR e T
4— 42cm ———>

(A) 108 cm
(B) 112cm
(C) 124cm
(D) 116 cm

P.T.O.



136.

137.

138.

166 %1 I T T B
(A) LCXVI

(B) CLVIVI

(C) VIV

(D) CLXVI

_J5+43 _J5-43
ﬂﬁx—\/g_\/geﬁ'{y—\/ghfé
@ x+y B A M

g,

(A) 8

(B) 16

(C) 2J15

) [v5+43)

TH GANT 3 AfKdl $ §9 3 :5 B

Fua ¥ fReta @ Swi B AR @
T 1 e gk A g § T 20 A

% @ g% g S i

139.

DU24

(A) 160 (B) 80
(C) 40 (D) 20
T BY

[6—6x {(~48) = (=3 x (14 — 12))} + 7]

(A) -30
(B) 48
(C) -35

(D) 36

=]

136.

137.

138.

139.

‘"The Roman number form of 166'is : ¢
(A) LCXVI
(B) CLVIVI
(C) WIVI
(D) CLXVI

the value of x + y will be :
(A) 8

(B) 16

(C) 2V15

0 (245 ++3)

A sum of money is divided between two
persons in the ratio 3 : 5. If the share of
one person is ¥ 20 less than that of the

other, find the sum :

(A) 160 (B) 80
(C) 40 (D) 20
Simplify :

[6 — 6 x {(~48) + (-3 x (14 — 12))} + 7]
(A) -30

(B) 48

(C) 35 -

(D) 36
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141.

142.
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=

144 T 31 ITH GREET B SgUE 4
g7

(A) 12:1
B) 1:%2
(C) 144 :1
(D) 1:144

T 3% & 2/5 AN A9 2 AR 39 ¢ F

160 TeX Il ST ST &, Of S99 6/7

AR X S 31 W <% H FEa (A
H)R:

(A) 280
(B) 320
(C) 350
(D) 420

15 STGH Th &M & 8 9 ¥ & daha
g 12 e W aW F A RE #
H g 7

(A) 12 (B) 10

C) 9 (D) 6

T SR A TG F 3/4 AR 20%
A9 R T I g IS B A 5
W 9 3@ 3, @ R AR 7 Iu e
e BT
(A) 13
(B) 14
(C) 15
(D) 20

[

[41]

140.

141.

142.

143.

A

The area of a circle is 144 times the
area of another circle. What is the ratio
of their circumferences ?

(A) 12:1
B) 1:12

(C) 144:1

(D) 1:144

2/5 part of a tank is filled. If 160 litres
more water is added to the tank, it
becomes 6/7 full. The capacity of the
tank (in litres) is : '

(A) 280
(B) 320
(C) 350
(D) 420

15 men can do a work in 8 days. In

how many days can 12 men do the

same work ?
(A) 12 - (B) 10
€ 9 (D) 6

A dealer sells 3/4 part of his articles at
a gain of 20% and remaining at cost
price, then his percentage profit in
whole transaction will be :

(A) 13
(B) 14
(C) 15
(D) 20

P. RiO:
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IR 2X =64 AT (-3) =
x+yiﬁTqﬁ'§Pﬂi

243 &, @

(A) 11
(B) 6
) 8

(D) 5

TEA B I G D U H g B
oy ¥ 3 af ofw B o af e,
e A REr @ 21 a¥ 8 g g

P I Y TG HOT

(A) 21 3§
(B) 27 T
(©) 22 a4
(D) 25 T

@ & AR S99 2/53 9F B o9 @

IR 510 2| 39 G B 10% FME ?

(A) 340
(B) 85

(C) 204

(D) ¥ & 9 @

[42]

&

144.

A

If 2% —64 and (-3)Y = 243, thenthe

- value of x +y will be :

145.

146.

(A) 11

(B) 6

(C) 8

(D) 5.

Present age of Rahul is 3 years more
than half the age of his father. Five
years ago, Rahul was 21 years younger

than his father. Find the present age of -
Rahul :

(A) 21 years
(B) 27 years
(C) 22 years
(D) 25 years
The difference between a number and

its 2/5th is 510. What is 10% of that

number ?
(A) 340
(B) 85

(C) 204

(D) None of these
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@

Z 6250 W 12% Sfaay @ & & T a8
% U sreaits &9 8 9 ks
T ?

(A) % 772.5
B) T 772 ‘
(C) X 6725
(D) T 672

R A HE gl PR 210

8, @A B st = AT v am ?

(A) 8
(B) 5
(€) 9
(D) 11

T8 S9! 9K P T o wen

(A) 9000
(B) 9801
(C) 9900
(D) 9999

25,000 @F # ¥ BIA 60% AT TEd
FA & IR’ 32% @ 9% H, 30% T
THET A T 99 AT R F qEa
g O R # ge ®

(A) 4500 (B) 5700

(C) 9500 (D) 10000

@[43]

147.

148.

149.

150.

A

The compound interest on I 6250 at
12% per

compounded half yearly is :

annum for one year

(A) T 7725
(B) T 772

(C) % 672.5
D) % 672

If the product of three consecutive
numbers is 210, then the sum of two
smaller numbers is :

(A) 8
(B) 5
€) 9
(D) 11

The greatest four-digit perfect square
number is :

(A) 9000
(B) 9801
(C) 9900
(D) 9999

Out of 25,000 people only 60% have
the saving habit. If 32% save with
bank, 30% with post-office and the
rest with shares, the number of

shareholders are :
(A) 4500 (B) 5700
(C) 9500 (D) 10000

PiEI©.
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i
S TS AP B e A R
(A) B9 A THAD
(B) QiTeaax e T
(C)wmmaﬁ
(D) SR T+t
@HIge W Ree & e 'y wE
T 8, FIS
(A) ﬁsmﬁa&sﬁ:mm%u

(B) 38 W WRg fFw ™ @&« T
fmieT @ @fa =9 ¥ wRafdfa ok

greaRea Rear ST a8

(C) 7& Rt R ®El @& Fw
AYRET T F 7 q&E B B

(D) IUET T

i G - R
Taq [aE 3 99N 9EER JEN &
& ET BT 27 FHeAR © -

(A) TRfea R ol

(B) THRIRG R somet

(C) rfvard farem womedt

(D) SR 3 omen

R & Zger § §e8 Aoy 99 @
(A)Tﬂ,ﬁ

(B) STITE

(C) Hergfer

(D) ¥

151.

152.

153.

154.

A

Audio-visual aids are also called: <«
(A) Hardware Educational Technology
(B) Software Educational Technology
(C) Soft Skill Technology

(D) All of the above

Blackboard is said to be the right hand
of the teacher, because :

(A) It arouses the interest of the
students.

(B) It can.permit quick change and
rearrangement of the writing and
drawing displayed on it.

(C) It helps teachers and students to
reduce spelling mistakes.

(D) All of the above

"The system of education that calls for
providing equal opportunity to every

- child for optimal development" is called :

(A) Integrated Education System
(B) Inclusive Education System
(C) Compulsory Education System

(D) Elementary Education System

The most important thing in the
behaviour of a teacher is :

(A) dominanée
(B) discipline
(C) sympathy

(D) patience



155.

156.

157.
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frfefed § ¥ aF-1 =E ‘@ R’
& faswar 7 ?

(A) T IS RE § Fea ¥
(B) 38 =T Fym it @9 ff Fea F

(C) R Jaae Y& & HX 2

(D) % § #iZ T

frffe & & $F-T @ @ § S
FR-F F T e g 6 2 ?

() Ree-Red & 72 gREs @6y
T |

(i) T IR IEw ghReEd -

(iii) FrofeT STRet ® SERT F

(iv) T AR wEETeS Y g SEET

H&M ATl

(A) (i) Gi) (i) (iv)
(B) (i) (i) (ii)
(©) (i) (i) (iv)
(D) (i) (i) (iv)
Tvs far o @ ¢

(A) TR FEER A FIGR B VA B
fer

(B) dTifdd =geR NG HFH & ol
(C) 5% R 3
(D) SR ¥ | Fg &

~ [45]

=]

155.

A

Which of the following statement is not

_a characteristic of 'Discovery Learning' ?

156.

0

157.

]

(A) ltis also called expository teaching.

(B) It is also called discovery without
direction.

(C) Teacher does
reinforcement.

not give

(D) None of these

Which of the following are the key
elements that enable effective
pedagogy in classroom ?

Building a positive relationship
between teacher and student.

(i)
(i)

Ensuring respect and care.

Using differentiated instructions.

(iv) Providing opportunities for
independent and collaborative
work.

(A) (i) (ii) (iii) (iv)
(B) (i) (ii) (i)

(C) (i) (i) (iv)

(D) (i) (i) (iv)
Punishment is given :

(A) To stop the repetition of wrong
behaviour.

(B) To establish desired behaviour.
(C) To teach a lesson.
(D) None of the above

PiT: 0.
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(A ()R (i)
~(C) {iii) AR (iv)

TET # g g @
(A) TFiHT gkl e T 8 AN
R g &1 FE HA B

(B) AT Had URHICIES Bl 2
(C) Frlveor qwiie it fafy & B

(D) % § B &

T EE % &9 4 o e &

T & GO A 1 e 7

() 32 SEEROME B IL FA A
HErdl 31

(i) T & JIF I $ AFAA B U
EERNIK]

B

(iii) I -ﬁmﬁﬁf H IR-IR 99 g1 4

T HAT, S IR-9RK 99 I8 &

(v) faem @ TRRRE @ awRe
ST q S

(B) (i) AR (iv)

(D) (i) 3 (iii)

Tepd & fEo A B oaml w1 o'W
@ afed ?

(i) R 3 e Sg@

(ii) USR] T SIS

(iii) fRreror fafy

(iv) BEl & TAS WX

(v) B it Sl wd sifghwt
(A) (iii), (iv), (V)

(8) (i), (i), (iii), (iv), (v)

(©) (), i), (iv), (v)

(D) (i), (iv), (v)

2

158.

159.

160.

A

Main characteristic of evaluationis : -

" (A) The evaluation proCess acts as a

reinforcement for both teacher and
student.

(B) Evaluation is only quantitative.

(C) Observation is not a method of
_evaluation.

(D) None of these

What is your role as a teacher in the
construction of knowledge of students ?

(i) To help them in memorising the

concepts.

(i) To be sensitive towards
eexperiences of each child.

(i) Refusing to ask questions

repeatedly to students who ask
questions repeatedly.

(iv) Relating school activities to real
life.

(A) (i) and (ii)

(C) (iii) and (iv)

(B) (ii)and (iv)
(D) (i) and (i)

What things should be kept in mind
while preparing homework ?

(i) Specific objectives of teaching
(i) Syllabus and textbooks
(iii) Teaching method ‘

'(iv) : Mental level of students

(v) Interests and attitudes of students
(A) (i), (iv), (v)

(B) (i), (i), (iii), (iv), (v)

(C) (), (i), (iv), (v)

(D) (i), (iv), (v)
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frfafaa & & SF-a Riaasia e

% e ¥ ?

() g, T

(ii) sifcersa, go =R

(iii) GG €9 | TS AR TRTH

(iv) STEBT STTEumSHA

(A) (i) (i) (iii) (iv)

(B) (i) (iii) (iv)

(C) (ii) (iv)

(D) (iii) (iv)

foema # tna'gm i €S © ?

(A) T& RacE & SgHd dEe H
e BT B

(B) T e fwem o e § @ R

(C) 78 e & ww Remr & g
ZERYT €9 ¥ S99 § HeEar
2B

(D) SWET Tt
frafafeg & @ -9 e Wwra

Remr 4 sy Rew & SR 5@

A B AT O BT © ?

(A) Rerfi 3 & Ree 3 @
3R

(B) Remii &t uietar | Remd &
IR B AR

C) e 3 R X Frofg ¥ R
H QAT B SR

(D) 9% SMua M § @a dred
H IO B SR

[47]

161.

162.

163.

A

Which of the the
characteristics of a reflective teacher ?

(i)

(ii) Accountability, open-mindedness

following are

Intelligence, smartness

(iii) Socially aware and cooperative
(iv) Good researcher

(A) (i) (i) (iii) (iv)

(B) (ii) (iii) (iv)

(C) (i) (iv)

(D) (iii) (iv)

Why is syllabus necessary in school ?

(A) It helps in proper functioning of the
school.

(B) It makes the classroom education
under control.

(C) It helps the teacher to plan his
teaching in an organized manner.

(D) All of the above

Which the
represents the major- shift in teaching

of following  option

learning from traditional to modern ?

(A) From learner centric to teacher
centric.

(B) Learner participation to learner
 receptivity.
(C) Teacher directions and- decisions

to learner's autonomy.

(D) Understanding based learning to
rote method of learning.

P. e
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FE

TS T P Al fafe ¥

() IR A AR

(i) SirET @ e

165.

166.

167.

.DU24

(iii) MRS AT
(iv) @ d§%a -
(A) (i), (ii), (iii)

(C) (i), (i), (iv)

(B) (ii), (iii), (iv)
(D) ST i

e & § BF-a1 Reor & Res

7 ?

(A) IRERYT 1 s

(B) Tiafafy = Rrar=<

(C) el & Rar=t

(D) G5H 3R TR &1 e

frfofeg & § @9 Tow Rre
ZqER TE 8 ?

(A) JSET HAT 1 Freaned Bl

(B) &AM 31

(C) frewr &

(D) IUUET Tt

frefifeg & 4 a9-8 F9 9@ 3
Teg ¥ g ?

(i) dreT FgER ¥ 9T R

(i) e SRR SR WE-SNE A

2l

(iii) UA% N diEar 2

(iv) 9rgq § oRueadn, 9@, S @

gl 3 PO FGER A BN a
gRadw gl T2t 2
(A) (i), (ii), (i), (iv) -
(B) (i), (ii), (iv) @
(C) (i), (i), (i)
(D) (i), (i)

[48]

164.

165.

166.

167.

A

Some important modes of non-verbal
communication are :

(i) Facial expression

(i) Language of the eyes

(iii) Body language .

(iv) Sound symbols

(A) (i), (i), @iy (B) (i), (iii), (iv)

(C) (i), (iii), (iv) (D) All of the above

Which of the following is not a principle
of teaching ?

(A) Principle of motivation
(B) Principle of activity
(C) Principle of rejection
(D) Principle of creation and recreation -

Which of the following is not a direct
teacher behaviour ?

(A) Praising or encouraging
(B) Giving lecture

(C) Giving direction

(D) All of the above

Which of the following statements are
true for learning ?

(i) Learning is change in behaviour.

(i) Learning is purposeful and goal-
. oriented.

(iii) Every creature learns.

(iv) Learning does not include the
changes in behaviour on account of
_ maturation, fatigue, illness or drugs.

(A) (0), (i), i), (iv)
(B) (i), (i), (iv)
(C) (W), (i), (iii)
(D) (), (i)
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freffed & & $A-@ B qg-da
ST R 7 E ?

(A) 398 fafEt, o ok At &
Hed # sg-sfear affed 2

(B) T& fmv-aiftrm ufkwr & oS
Sad AR ATH TR B
(C) T& T R W aF] 7& 3

(D) IR ¥ § His &

TRREG Surm, Reer gems el @t

e R & il w8 ;o

(A) 5= weR% rEll iR 39 s
|

(B) 3@ Tems arEl iR wifafy
RS ArEl

(C) ¥ Teld® UrEll, IW WedH
arell, s=3W wEs arEl &R
T @S |

(D) Tfafafy Teres amE

den-fEs & e & oRw # R
IR F PR AT TEd T R
SR % [T R SR & g e
ST B ?

(A) Wi e

(B) AT e

(C) =S gedish

(D) & § %13 &

168.

169.

170.

[49] ﬁ

A

Which of the following statements is
not a characteristic feature of multi-
sensory approach ?

(A) It involves multi-sense in terms of
and

methods, techniques

materials.

(B) It makes the teaching-learning
process more lively and interesting.

(C) It is not applicable to distance
learning.

(D) None of the above

The
teaching aids into the following :

traditional approach classifies

(A) Audio aids and visual aids.

(B) Audio-visual aids and activity aids.

(C) Audio aids, visual aids, audio-visual

aids and activity aids.

(D) Activity aids.

Which type of evaluation is done in the
beginning of teaching-learning process
to find out the specific weakness and
strength of an individual ?

(A) Diagnostic evaluation

(B) Summative evaluation
(C) Formative evaluation

(D) None of these

P.¥.0.
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(@) i) (c)
(A) (i) (ii) (iii)
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(D) (ii) i) (iif)
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171. Match Column 'A’ with Column 'B' :
- Column'A' Column 'B'
(a) Reading (i) Dysgraphia
disability
(b) Mathematical (i) Dyscalculia
disability
(c) Writing (iii)  Dyslexia
disability

Code : _
e b ()
) ) (il (i)
(B) (i) - (i) (i)
©) @i () (i)
(D) (il (i) (i)

172. How the acquisition of capacities in
language communication and logical

reasoning can be ensured in students ?
(i) By more participation

(i) By questioning

(iii) By discussing

(iv) By giving lecture to students

(A) (i) (i) iii) (iv)

(B)A () (ii) (iv)

(C) (i) (iii) (iv)

(B) () (i) (i)
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(D) T § Fi3 T
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173.

174.

175.

A

Which of the following statement is

correct for 'assessment of learning' ?
(A) Itis formative in nature.

(B) It helps a teacher to monitor the

progress of students.
(C) ltis summative in nature.
(D) It helps students to monitor their

own performances.

A teacher punishes a child by telling
him to get out of the class. What type of

teacher behaviour will it be called ?

(A) Silence or confusion

(B) Criticising and justifying authority
(C) Directing

(D) None of these

Which of the following statements is
not true in terms of remedial teaching ?

(A) Remedial teaching is conducted in

a group.

(B) Remedial teaching is conducted

individually.

(C) Learning difficulty of each student

is different.

(D) None of these

P:T.O.
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(B) 5+2+4+4
(C) 5+3+3+4
(D) 5+4+3+3
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(iii) ARgH Td @ T
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(A) (i) 3 (i)

(B) (iii) 3 (iv)

(©) (), (i) A (iv)

(D) (i), (i), (iiiy 3 (iv)
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176.

177.

178.

A

Which of the following statements is correct
with regard to teaching technology ?

(A) Cognitive objectives are achieved
in teaching technology.

(B) Affective objectives are achieved in
teaching technology.

(C) Psychomotor objectives are achieved
in teaching technology.

(D) Cognitive, affective and psychomotor
objectives are achieved in teaching
technology.

Which new structure is recommended
in the National Education Policy-2020 ?

(A) 10 +2

(B) 5+2+4+4
(C) 5+3+3+4
(D) 5+44+3+3

The verbal and non-verbal communication
strategies carried out in the classroom
are classified as :

(i) Speaking and listening strategy
(ii) Writing and reading strategy
(iii) Oral and written strategy

(iv) Communication strategy involving
no language

(A) (i) and (ii)

(B) (iii) and (iv)

(C) (i), (ii) and (iv)
(D) (i), (ii), (iii) and (iv)
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A
179." gl F&m A AR R @ R 179. What type of teaching learning material
Jfrm arEll e | e orl ? will support learning in an inclusive
class ?
(A) Fad e el | (A) Only visual material
(B) %A« wst drEl ' (B) Only tactile material
(C) %A« HGT TFEl (C) Only auditory material
(D) aga%a“t el (D) Multisensory material
180. Rt =i, el @ @ TRy : 180. Teachers should view learners as :
(A) s Tl B ©9 H (A) Recipients of knowledge
(B) T o fammeft & w9 : (B) Rote learners
(C) dre & dfhg wriek & &9 | (C) Active participants in learning
(D) e 3 & o= Gﬁ’iﬂ?ﬁ ® & ¥ (D) A good followers of teachers
181. UgETAl 1 8 ? 181. What s a curriculum ?
(A) G ad g9 ﬁ&‘ﬁ, el @ (A) It refers to overall goals, plans and
FEE 4 3, o Rl & sgwa practices  that  shape the
B IMHR 34 . experiences of students.
(B) o9& arad fqumew ® TN SN ar (B) It refers to the subjects being
fawat q B taught in the school.
(C) z8& ared o atrm areht 9 (C) It refers to the teaching learning
2l material.
(D) 39H a9 fEred & Ter oM a (D) It refers to the text books and
UIeE Y& T WeEHH 4 B ; syllabus being taught in the school.
182. fIHVI-STRFH oMol &t STaeaS ® ¢ 182. Teaching-learning stratigies need to be :
(A) et & R st 3 (A) Planned according to the diverse
HTEX FoFT T H % f needs of students.
(B) Femidi #  FEAW  HATHE (B) Planned according to the emotional
AEAFTHFAA F FIARX A T needs only.
% fw
(C) Rt i Paw AR SMaTIHAST (C) Planned according to the
% FIAR I S B educational needs only.
(D) ferenfefat £ A mﬁ"ﬁi . (D) Planned according to the social
gﬁ%qwaﬂ 3 SN Qe T ' neéds only.
| p

DU24 [53] P.T.O.
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183.

184.

185.

A

Pratibha is a student of Class 5. When
her teacher takes an oral test she is
unable to give the answer. She feels
anxious when she talks but she
performs well in written test. How will
you assess Pratibha as a teacher ?

(A) Because she did not give any
answer, she should not be given
any marks.

(B) Should complain to her parents.

(C) She should be scolded for not
answering.

(D) She should be encouraged to give
the answers in written.

Riyat wants to test the G.K. of her class
students. What type of questions will be
objective and less time taking ?

(A)- MCQ's
(B) Project based questions
(C) Assignment based questions

(D) Essay type questions

Which of the following statement is

correct in the context of constructivist

classroom ?

(A) Teacher is the manager
organizer of the class.

(B) Teacher is the controller of the
class.

and

(C) Students are constructor of their
knowledge and teacher is a
facilitator.

(D) It is teacher centric approach.
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186.

187.

188.

A

Dinésh is a student of class 6. His
teacher gave him an assignment. While
doing his assignment he recalled his
earlier experiences and found that he
has not included some things. On the
basis of his experience he further does -
self-study and improve his assignment
and submit to his teacher. This type of
assessment is :

(A) Assessment as learning
(B) Assessment of learning -
(C) Assessment for learning

(D) Summative assessment

What are the three levels of teaching ?

(A) Memory Level, Observation Level,
Understanding Level. :

(B) Memory Level, Understanding Level,
Reflective Level.

(C) Memory Level, Interactive Level,‘
Reflective Level.

(D) None of these

Which of the féllowing is not a broad

" aim of education ?

(A) ‘ Develop thought and autonomy
(B) Health and wellbeing

(C) Preparing TLM

(D) Cultural participation

P.T.O.
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(B) (i) (ii) (i)
(C) (i) (i) (iii) (iv)
(D) (i) (iii) (iv)

=

189.

190.

191

A

Activity and play based methods :

(A) Provide a variety of experiences to
the little children and facilitate their
acquisition of knowledge, skills and
attitudes.

(B) Establish stimulating environment _
for creative experience.

(C) Develop  self-confidence  and
understanding through work and play.

(D) All of the above

What would you say, as a teacher, to
the students if they come late to school
on a rainy day ?

(A) You would not say anything.

(B) You would find out the reason of
being late.

(C) You would punish them for being
late.

(D) You would make them take an oath
not to come late in future.

For the successful implementation of
inclusive education which of the
following factors are important ?

. (i) Preparedness of teachers

[56] ﬁ

(ii) Infrastructure

(iii) Availability of resources
(iv) Strict evaluation system
(A) (i) (i) (iv)

(B) (i) (i) (iii)

(C) (i) (i) (iii) (iv)

(D) (i) (i) (iv)
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A LB B 7l 5 ©
(i) IHRE STawFBAL
(i) G B A
(iii) e IR T H STEIFAL
(iv) §= &t aﬁsﬂmﬁ
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(D) (i), (i), (i), (iv), (v)
FRoflosagodlo ¥, 2016 3 STHAR
fe TR @ R ¥ ?
(A) 20
(B) 21
©) 7

(D) 6

To 30 Yo 2020 faenffat & fom fbm
TR & T HE B FAFEA B 8 ?

(A) 360° T WIid He
(B) 180° T Wi &I
(C) 360° &= T FE

b

(D) 180° &= Wil HS
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192.

193.

194.

Correct order of human needs is :
() Physical needs

(i) Safety needs

(iii) Needs of belongingness

(iv) Esteem needs

(v) Needs of self-actualization

(A) (ii), (i), (iii), (iv), (v)

(B) (iii), (ii), (i), (iv), (v)

(C) (), (i), (iii), (iv), (v)

(D) (i), (i), (i), (iv), (v)

According to RPWD Act, 2016 how
many disabilities are there ?

(A) 20

(B) 21

() 7

(D) 6

NEP-2020 recommends which type of

progress card for students ?

(A)' 360° Holistic progress card

(B) 180° Holistic progress card .

(C) 360° Happy progress card
(D) 180° Happy progress card

P.T.O.
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i

A

195. The capacities and values that should

be inculcated in students are :
) Scontlicicporamant
(i) Critical thinking
 (ii)) Rote memory
(iv) Creativity
(A) (i) (i) (iv)
(B) (i) (i) (i)
(©) (i) (i) (iv)
| (D) (i) (i) (iv) l

196. Which of the following teaching

technique give an opportunity to relate
the thoughts and concepts presented in

the class with the real world ?
~ (A) Classroom discussion

(B) Lecture

(C) Guided study

(D) Field trips

197. Objective of research in education is :

@(A) To propound new principles.
(B) To discover new facts.
(C) To experiment something new.

(D) All of the above
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198.

199.

200.

A

Sandeep is a newly appointed teacher
in a government school. After teaching
each chapter in the class what should
he do ?

(A) Proceed to teach the next topic.

(B) First ensure that ali the students
have understood the chapter.

(C) Take a test at the end of the entire
course.

(D) Ask questions from one or two
students and then start a new
chapter.

Siddha, a teacher of class 8 was
teaching English in her class. She
observed that most of the students of
her class were not taking interest in
studies. She reflected and realized that
the causes of disinterest among
students is use of lecture method. What
she should do in order to make her

‘teaching effective ?

(i) Change her teaching style.
(i) Use multi-dimensional approach.

(iii) Students should be asked to read
one by one and give feedback.

(A) (i) (i) iii)
(C) (i) (i)

(B) (i) (iii)
(D) (i) (i)

According to NCFSE-2023 the meaning
of '‘Panch Kosh' is :

(A) Five mental abilities
(B) Five spiritual abilities
(C) Five fold development
(D) Five paths of life

P.T.O.



P99 & B4 &Y
Only for Rough Work

DU24 ﬁ [60]




=]

Paq & A 3
Only for Rough Work

DU24 [61] P.T.O.



=

Fa W B &Y
Only for Rough Work

DU24 [62] @




ﬁ
»

P 6 B oY
Only for Rough Work

DU24 [63] P.T.O.



SECU
SE

E

Faq W B o]
Only for Rough Work
JRITY
AL
DU24 (e

Y




